0.0, : , ,
2 : : :

D.009 -+ }\ ------------ RRSIREEERRE SRSIREEERIEE
> H H

D008+ i LR RIS
o : :

D007 wwrereirereeeees RRREEIERS REREEREE
9] H H

0,008+ ---w-vvieeeeenees Beeeseeenen e
0,005 -----x-wineeeeeees e o
0.004f -+ P Feeeeeeeeen e
0.003f-+--e-evisereneeeess Feoernnenesd o
0.002f -+ P Feeeeeeeeen e
0.001F -+ veseiveeeenenees Beoeeeees e

1.0

Ratio

o
©
a

=
o
iN

1 10 . Gedf’

—s=— DQM_V0001_R000000001__Global__mkFitbasel_ RECO
—— DQM_V0001_R000000001__Global__mkFitbase2_ RECO

=0.01
[
2.009
(8]
9.008
5}
£.007
()
0.006
0.005
0.004
0.003
0.002
0.001
.0

................................................

................................................

Ratio

[y

o
©
a

W
N
o
=)
N
w

TP N

Efficiency vs ¢

o 0.01¢

................................................

..................................................

................................................

o

e -




	Contents
	Page 1


